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HW1 due Friday, Feb 2
Turn in 1.1#1
Practice 1.1#7, 1.2#4, 1.2#10, 1.2#11, 1.3#1, 1.3#2

1. Prove that /6 is irrational.
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7. Let a be a real number. If ¢*> = a, prove that eithera = O ora = 1.
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4. Let A and B be sets. The symmetric difference of A and B is (AU B) \
(AN B). Showthat ( AUB)\(ANB)=(A\ B)U(B\ A).
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10. Let X be a set and let A, be a set for each « in a nonempty index set /.
Prove the distributive properties:
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11. Let A, B, and C be sets. Prove that
AxX(BUC)=(AxB)U(A x C).
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1. Let / be a function from X into Y. Let A and B be subsets of X. Prove
that f(AU B) = f(A)U f(B).
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2. Define a function f from R into R by
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Find each of the following.
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